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Bob gives up his factory job in order to open a bait-and-tackle shop. The earnings from his factory job
represent
the hourly wage paid by the shop
the marginal cost of running the shop
the average cost of running the shop
a fixed cost that can vary in the long run
an implicit cost of opening the shop

What is true only at the output level where price equals average total cost?
Marginal cost equals marginal revenue.

Profit is maximized.

Losses are minimized.

Profit is zero.

Cost is minimized.

For a perfectly competitive firm,

marginal revenue equals total revenue

total revenue always exceeds total cost

price always exceeds average total cost

marginal cost always equals average cost

the marginal revenue curve and the demand curve lie on top of each other

If a non-discriminating monopolist decides to lower its price to sell one more unit of its product, then
total revenue rises by an amount equal to the price

some revenue is lost to the extent that units previously sold at a higher price now

sell for a lower price; however, the additional unit sold brings in new revenue

marginal revenue increases when total revenue increases

the net effect on total revenue is typically zero since the price must fall

the net effect on total revenue is typically negative since the price must fall

Cecilia's Cafe is a monopolistic competitor. If Cecilia's is currently producing at the output level at which
her average total cost is minimized and the cafe is earning an economic profit, then, in the long run,
output will

decline and average total cost will increase

decline and average total cost will decrease

remain unchanged as Cecilia's strives to minimize costs

increase and average total cost will be greater

increase and average total cost will be smaller

Suppose workers agreed to a contract that guaranteed a real wage increase of 3 percent per year. If the
inflation rate was 7 percent over the following year, what is the required increase in the nominal wage to
meet the contract requirements?

10 percent

3 percent

4 percent

7 percent

1 percent

If real consumption spending increases by $400 billion each time real disposable income rises by $1,000
billion, the marginal propensity to consume is

40

4

0.4

0.04

0.004
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Why is inflation considered a problem?

Firms gain too much economic power.

It is always very high when it exists.

People prefer falling prices.

It is costly for society.

Individuals prefer higher prices to lower prices.

According to Say's Law, in the aggregate
demand creates its own supply

the production of output will generate exactly enough income to purchase what has
een produced

the economy is incapable of producing output fast enough to ensure full
:mployment :

full employment cannot be sustained without government action
consumer saving prevents the economy from reaching full employment

Use the table below to determine the marginal propensity to consume (MPC).

Real Real
Disposable Consumption
Income Spending
($Billions) ($Billions)
$§ 0 $ 100
200 280
400 460
600 640
800 820
1,000 1,000
1,200 1,180

—mooe
0O 0o

If a good is a normal good then
other things equal, no consumer will buy it
a rise in income or wealth will increase the amount of the good that consumers
will purchase
a decline in income will increase the amount of it that consumers will purchase
abnormal goods are never substituted for it
normal consumers will always demand it

If an excise tax is imposed on steak,
the government's tax revenue will decrease
the government's tax revenue will increase
the amount of steak produced and sold will increase
the market price of steak will decrease
the market price will rise but the market quantity will be unaffected
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Which of the following statements about straight-line demand curves 1s true?
The price elasticity of demand becomes larger in absolute value as price falls.
The price elasticity of demand becomes smaller in absolute value as price falls.
The price elasticity of demand is constant along the curve.

The price elasticity of demand and the slope of the demand curve are the same.
Demand is price elastic everywhere along the curve.

The ratio of the price of the good on the horizontal axis divided by the price of the good on the
vertical axis multiplied by -1

is the slope of the demand curve

measures the price elasticity of demand for a particular good

defines real income for the consumer

is the slope of the budget line

is the slope of the indifference curve
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Notice: Please list your computation in details on answer sheet.

4—-x, x<3

1. For f(x)=13, x=3, ﬁmiﬁ@j%ﬂ.@%o
i, x>3
L3
2. Find the derivative of the following function using the definition of the derivative.
1
x)=—= (10%

J(x) NP (10%)

3. Find the derivative of the following function.
2x+9
x)=In,|[—— (6%

T =y s O
4. A company’s demand equation is x =+/4000— p*, where pis the price in dollars. Find

;{—pwhen p = 60 and interpret your answer. (12%)

x
2
5. Find the equation of the tangent line to the curve f(x)= ¥ at x=1. (12%)
X
6. Please evaluate L "x* Inxdx (12%)
7. Please evaluate J'xe"2 dx (7%)
8. Please evaluat _[0 2 dx (12%)
: valuate X 0
.o (x5 _ 1)2

9. When a company sells a product with a lifetime guarantee, the number of items returned

for repair under the guarantee usually decreases with time. A company estimates that the

annual rate of returns after ¢ years will be 800e™". Find the total number of returns by

summing (integrating) this rate from 0 to . (12%)
10. Find the radius of convergence of the power series:

lx+zx2 P30 g (13%)
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